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LTspice BJT

s1

.param cf = 20p

.param rrr = 4k

.param rzc = 30k

.param re =  4k

.param temp = 27

.option rshunt =  10g

.option rseries = 1m

.option cshunt =  10f

*.options method=gear

*.options chgtol=1e-11 reltol=0.01 trtol=1

.control

  save all

  * save alli

  op

  write

  set appendwrite 

  tran .1n 20u

  write

  dc vsig1 -2 2 .01 vcm1 -2 6 2 

  write

  dc vsig1 -2 2 .01 vcm1 1 3 .2 

  write

  alter @vsig1[dc] = 0

  alter @vcm1[dc] =  2

  op

* sig load 50pF

  alter @vsig1[acmag] = 1

  alter @vcm1[acmag] =  0

  alter c4 =  50p

  *reset

  ac dec 101 1e3 1e9

  write

* sig load 12pF

  alter c4 =  12p

  *reset

  ac dec 101 1e3 1e9

  write

* cm

  alter c4 =  50p

  alter @vsig1[acmag] = 0

  alter @vcm1[acmag] =  1

  *reset

  ac dec 101 1e3 1e9

  write

  quit

.endc

s2

* (%i23)	solve (111 = (k * 51^2 + 2 * (1-k) * 51));

* (%o23)	[k=0.003601440576230492]
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s3

* (%i23)	solve (111 = (k * 51^2 + 2 * (1-k) * 51));

* (%o23)	[k=0.003601440576230492]
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netlist simulate wait load

netlist simulate wait load

Vsig1

value=dc pulse(-1 1 0 1n 1n 500n 1u) ac 1 0

Vsig3

value=dc pulse(-.1 .1 50n 1n 1n 45n 90n) ac 0 0

Vsig4

value=dc pulse(-1 1 250n 1n 1n 500n 1u) ac 0 0
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